# New Finite Integrals Involving Product of Modified Multivariable H-function

ISSN: 2319-1023

Dr. Rashmi Singh and Kamini Gour\* Head, Department of Mathematics, B.N.P.G. Girls College, Udaipur \*Lecturer, Department of Mathematics, B.N.P.G. College, Udaipur

**Abstract:** The aim of the present paper is to study some new finite integrals. We obtain two finite double integrals involving the product of the Modified Multivariable H-function and Srivastava Polynomials. The values of the integrals are obtained in terms of  $\Psi(Z)$  (the logarithmic derivative of  $\Gamma(z)$ ). We establish an interesting integral relation in terms of Modified Multivariable *H*-function. Present finding are the most general in nature and act as the key formulas from which we can obtain their special cases.

**Keywords :** Modified Multi-variable *H*-function, general class of Polynomials, generalized Wright hypergeometric function logarithmic derivative of  $\Gamma(z)$ .

**Introduction:** The modified multivariable *H*-function employed as kernel of multi-dimensional transform defined by Prasad and Singh [5] on the lines of Srivastava and Panda [7], Prasad and Maurya [4] is as follows:

$$H^{m,n:|R^{'}:m_{1},n_{1};,\ldots;m_{r},n_{r}}_{p,q:|R:p_{1},q_{1};\ldots;p_{r},q_{r}}$$

$$\begin{bmatrix} z_{1} \\ \vdots \\ z_{r} \end{bmatrix} (a_{j};\alpha_{j}',...,\alpha_{j}^{(r)})_{1,p} : (e_{j};u_{j}'g_{j}',...,u_{j}^{(r)}g_{j}^{(r)})_{1,lR} : (c_{j}',\gamma_{j}')_{1,p_{1}};...;(c_{j}^{(r)},\gamma_{j}^{(r)})_{1,p_{r}} \\ \vdots \\ z_{r} \end{bmatrix} (b_{j};\beta_{j}',...,\beta_{j}^{(r)})_{1,q} : (l_{j};U_{j}'f_{j}',...,U_{j}^{(r)}f_{j}^{(r)})_{1,lR} : (d_{j}',\delta_{j}')_{1,q_{1}};...;(d_{j}^{(r)},\delta_{j}^{(r)})_{1,q_{r}} \end{bmatrix}$$

$$= \frac{1}{(2\pi\omega)^r} \int_{L_1} \dots \int_{L_r} \Phi(\xi_1) \dots \Phi_r(\xi_r) \psi(\xi_1 \dots \xi_r) z_1^{\xi_1} \dots z_r^{\xi_r} d\xi_1 \dots d\xi_r$$
 (1)

where

$$\Phi_{i}(\xi_{i}) = \frac{\prod_{j=1}^{m_{i}} \Gamma(d_{j}^{(i)} - \delta_{j}^{(i)} \xi_{i}) \prod_{j=1}^{n_{i}} \Gamma(1 - c_{j}^{(i)} - \gamma_{j}^{(i)} \xi_{i})}{\prod_{j=m_{i}+1} \Gamma(1 - d_{j}^{(i)} + \delta_{j}^{(i)} \xi_{i}) \prod_{j=n_{i}+1} \Gamma.(c_{j}^{(i)} - \gamma_{j}^{(i)} \xi_{i})} (i = 1, 2, ..., r)$$
(2)

$$\psi(\xi_{i},...,\xi_{r}) = \frac{\prod_{j=1}^{m_{i}} \Gamma\left(b_{j} - \sum_{i=1}^{r} \beta_{j}^{(i)} \xi_{i}\right) \prod_{j=1}^{n} \Gamma\left(1 - a_{j} + \sum_{i=1}^{r} \alpha_{j}^{(i)} \xi_{i}\right) \prod_{j=1}^{R'} \Gamma\left(e_{j} + \sum_{i=1}^{r} u_{j}^{(i)} g_{j}^{(i)} \xi_{i}\right)}{\prod_{j=m+1}^{p} \Gamma\left(a_{j} - \sum_{i=1}^{r} \alpha_{j}^{(i)} \xi_{i}\right) \prod_{j=n+1}^{q} \Gamma\left(1 - b_{j} + \sum_{i=1}^{r} \beta_{j}^{(i)} \xi_{i}\right) \prod_{j=1}^{R} \Gamma\left(l_{j} + \sum_{i=1}^{r} U_{j}^{(i)} f_{j}^{(i)} \xi_{i}\right)} \tag{3}$$

The multiple integral (1) converges absolutely if

$$|argz_i| < \frac{1}{2}U_i\pi$$
, (i=1,2,...,r).

where

$$U_{i} = \sum_{j=1}^{m} \beta_{j}^{(i)} - \sum_{j=m+1}^{q} \beta_{j}^{(i)} + \sum_{j=1}^{n} \alpha_{j}^{(i)} - \sum_{j=n+1}^{p} \alpha_{j}^{(i)} \sum_{j=1}^{m} \delta_{j}^{(i)} - \sum_{j=m_{1}+1}^{q_{i}} \delta_{j}^{(i)} \sum_{j=1}^{n_{1}} \gamma_{j}^{(i)}$$

$$- \sum_{j=n_{i}+1}^{p_{i}} \gamma_{j}^{(i)} + \sum_{j=1}^{q} \beta_{j}^{(i)} - \sum_{j=1}^{q} \beta_{j}^{(i)} > 0 \text{ (i=1,2...,r)}$$
[3 (a)]

The Srivastava Polynomials  $S_n^m[x]$  will be defined and represented as follows (Srivastava, 1972, Eq.1)[8]

$$S_n^m[x] = \sum_{l=0}^{[n/m]} \frac{(-n)_{ml}}{l!} A_{n,l} x^l$$
 (4)

where n = 0,1,2...m is an arbitrary Positive integer, the co-efficients An, I (n, I >, 0) are arbitrary constants, real or complex.

 $S_n^m[x]$  yields number of known Polynomials as its special cases. These include, among other, the Jacobi Polynomials, the Bessel Polynomials, the Brafman Polynomials and several other (Srivastava and Sing, 1983) [10]

The following well known Euler Integral formula is required to establish the main integral [Srivastava and Karlsson, 1985 Eq.2] [11]

$$\iint u^{\alpha-1} v^{\beta-1} [1 - u - v]^{\gamma-1} du \, dv = \frac{\Gamma(\alpha)(\beta)(\gamma)}{\Gamma(\alpha + \beta + \gamma)}$$

$$u \ge 0, v \ge 0, u + v \le 1, R(\alpha) > 0, R(\beta), R(\gamma) > 0$$
(5)

### **Main Integrals:**

Let  $\Psi(z)$  denote the logarithmic derivative of gamma function  $\Gamma(z)$  i.e. :

$$\Psi(z) = \frac{\Gamma^{'}(z)}{\Gamma(z)}$$

We have

## First Integral:

$$\int_{0}^{1} \int_{0}^{1-x} x^{a-1}y^{b-1}(1-x-y)^{c-1} \log(x) \prod_{i=1}^{r} S_{n_{i}}^{m_{i}} [c_{i}x^{u_{i}}y^{v_{i}}(1-x-y)^{w_{i}}]x$$

$$H_{p,q:|R:p_{1},q_{1};....;p_{r},q_{r}}^{m,n:|R':m_{1},n_{1};....;p_{r},q_{r}} \begin{bmatrix} z_{1} & x^{u_{i}}y^{v_{i}}(1-x-y)^{w_{i}} \\ \vdots \\ z_{r} & x^{u_{r}}y^{v_{r}}(1-x-y)^{w_{r}} \end{bmatrix} dxdy$$

$$= \prod_{i=1}^{r} \sum_{l=0}^{[n_{i}|m_{i}]} \frac{(-n_{i})_{m_{i}l_{i}}}{l_{i}!} A_{n_{i}l_{i}} C_{i}^{l_{i}} \sum_{t=0}^{\infty} \sum_{h=1}^{m} \phi_{i}(\xi_{i})$$

$$\frac{\left\{\Gamma(a+\sum_{i=1}^{r}u_{i}l_{i}+u\sum_{i=1}^{r}\xi_{i})\right\}^{l}\left\{\Gamma(b+\sum_{i=1}^{r}v_{i}l_{i}+v\sum_{i=1}^{r}\xi_{i})\right\}^{l}\left\{\Gamma(C+\sum_{i=1}^{r}w_{i}l_{i}+w\sum_{i=1}^{r}\xi_{i})\right\}^{l}}{\left\{\Gamma(a+b+c+\sum_{i=1}^{r}(u_{i}+v_{i}+w_{i})\ l_{i}+(u+v+w)\sum_{i=1}^{r}(\xi_{i})\right\}^{l}}$$

$$z_{1}^{\xi_{1}} \dots z_{r}^{\xi_{r}} \left[ \Psi \left( a + \sum_{i=1}^{r} u_{i} l_{i} + v \sum_{i=1}^{r} \xi_{i} \right) - \Psi \left\{ a + b + c + \sum_{i=1}^{r} (u_{i} + v_{i} + w_{i}) l_{i} + (u + v + w) \sum_{i=1}^{r} \xi_{i} \right\} \right]$$

$$(6)$$

#### **Second Integral:**

$$\int_{0}^{1} \int_{0}^{1-x} x^{a-1}y^{b-1}(1-x-y)^{c-1} \log(1-x-y) \prod_{i=1}^{r} S_{n_{i}}^{m_{i}} [c_{i}x^{u_{i}}y^{v_{i}}(1-x-y)^{w_{i}}] x$$

$$H_{p,q:|R:p_{1},q_{1};...;p_{r},q_{r}}^{m,n:|R':m_{1},n_{1};...;p_{r},q_{r}} \begin{bmatrix} z_{1} & x^{u_{i}}y^{v_{i}}(1-x-y)^{w_{i}} \\ \vdots & \vdots \\ z_{r} & x^{u_{r}}y^{v_{r}}(1-x-y)^{w_{r}} \end{bmatrix} dxdy$$

$$= \prod_{i=1}^{r} \sum_{l_{i}=0}^{[n_{i}|m_{i}]} \frac{(-n_{i})_{m_{i}l_{i}}}{l_{i}!} A_{n_{i}l_{i}} C_{i}^{l_{i}} \sum_{t=0}^{\infty} \sum_{h=1}^{m} \phi_{i}(\xi_{i})$$

$$\frac{\{\Gamma(a+\sum_{i=1}^{r} u_{i}l_{i} + u\sum_{i=1}^{r} \xi_{i})\}^{l} \{\Gamma(b+\sum_{i=1}^{r} v_{i}l_{i} + v\sum_{i=1}^{r} \xi_{i})\}^{l} \{\Gamma(C+\sum_{i=1}^{r} w_{i}l_{i} + w\sum_{i=1}^{r} \xi_{i})\}^{l}}{\{\Gamma(a+b+c+\sum_{i=1}^{r} (u_{i} + v_{i} + w_{i}) l_{i} + (u+v+w)\sum_{i=1}^{r} (\xi_{i})\}^{l}}$$

$$z_{1}^{\xi_{1}} \dots z_{r}^{\xi_{r}} \left[ \Psi \left( b + \sum_{i=1}^{r} u_{i} l_{i} + \nu \sum_{i=1}^{r} \xi_{i} \right) - \Psi \left\{ a + b + c + \sum_{i=1}^{r} (u_{i} + \nu_{i} + w_{i}) l_{i} + (u + \nu + w) \sum_{i=1}^{r} \xi_{i} \right\} \right]$$

$$(7)$$

#### **Third Integral:**

$$\int_{0}^{1} \int_{0}^{1-x} x^{a-1}y^{b-1}(1-x-y)^{c-1} \log(1-x-y) \prod_{i=1}^{r} S_{n_{i}}^{m_{i}} [c_{i}x^{u_{i}}y^{v_{i}}(1-x-y)^{w_{i}}] x$$

$$H_{p,q:|R:p_{1},q_{1};...;p_{r},q_{r}}^{m,n:|R':m_{1},n_{1};...;p_{r},q_{r}} \begin{bmatrix} z_{1} & x^{u_{i}}y^{v_{i}}(1-x-y)^{w_{i}} \\ \vdots & \vdots \\ z_{r} & x^{u_{r}}y^{v_{r}}(1-x-y)^{w_{r}} \end{bmatrix} dxdy$$

$$= \prod_{i=1}^{r} \sum_{l_{i}=0}^{[n_{i}|m_{i}]} \frac{(-n_{i})_{m_{i}l_{i}}}{l_{i}!} A_{n_{i}l_{i}} C_{i}^{l_{i}} \sum_{t=0}^{\infty} \sum_{h=1}^{m} \phi_{i}(\xi_{i})$$

$$\frac{\{\Gamma(a + \sum_{i=1}^{r} u_{i}l_{i} + u \sum_{i=1}^{r} \xi_{i})\}^{l} \{\Gamma(b + \sum_{i=1}^{r} v_{i}l_{i} + v \sum_{i=1}^{r} \xi_{i})\}^{l} \{\Gamma(C + \sum_{i=1}^{r} w_{i}l_{i} + w \sum_{i=1}^{r} \xi_{i})\}^{l}}{\{\Gamma(a + b + c + \sum_{i=1}^{r} (u_{i} + v_{i} + w_{i}) \ l_{i} + (u + v + w) \sum_{i=1}^{r} (\xi_{i})\}^{l}}$$

$$z_{1}^{\xi_{1}} \dots z_{r}^{\xi_{r}} \left[ \Psi \left( c + \sum_{i=1}^{r} w_{i} l_{i} + w \sum_{i=1}^{r} \xi_{i} \right) - \Psi \left\{ a + b + c + \sum_{i=1}^{r} (u_{i} + v_{i} + w_{i}) l_{i} + (u + v + w) \sum_{i=1}^{r} \xi_{i} \right\} \right]$$
(8)

The following interesting integral will be required to establish the results from eq. 6 to 8.

$$\int_{0}^{1} \int_{0}^{1-x} x^{a-1}y^{b-1}(1-x-y)^{c-1} \prod_{i=1}^{r} S_{n_{i}}^{m_{i}} [c_{i}x^{u_{i}}y^{v_{i}}(1-x-y)^{w_{i}}] x$$

$$H_{p,q:|R:p_{1},q_{1};....;p_{r},q_{r}}^{m_{n},n_{1};....;p_{r},q_{r}} \begin{bmatrix} z_{1} & x^{u_{i}}y^{v_{i}}(1-x-y)^{w_{i}} \\ \vdots & \vdots \\ z_{r} & x^{u_{r}}y^{v_{r}}(1-x-y)^{w_{r}} \end{bmatrix} dxdy$$

$$= \prod_{i=1}^{r} \sum_{l_{i}=0}^{[n_{i}|m_{i}]} \frac{(-n_{i})_{m_{i}l_{i}}}{l_{i}!} A_{n_{i}l_{i}} C_{i}^{l_{i}} H_{p+3,q+1:|R:p_{1}q_{1};.....;p_{r},q_{r}}^{m_{1}n+3:|R':m_{1}n_{1};.....;p_{r},q_{r}}$$

$$\begin{bmatrix} z_{1} \\ \vdots \\ z_{r} \end{bmatrix} (1-a-\sum_{i=1}^{r} u_{i}l_{i},u;l), (1-b-\sum_{i=1}^{r} v_{i}l_{i},v;l)(1-c-\sum_{i=1}^{r} w_{i}l_{i},w;l)$$

$$\begin{bmatrix} z_{1} \\ \vdots \\ z_{r} \end{bmatrix} (b_{j}; \beta_{j}',...,\beta_{j}^{(r)})_{1,q}; (l_{j}; u_{j}'f_{j}',...,U_{j}^{(r)}F_{j}^{(r)})_{1,|R};$$

$$(a_{j}; \alpha_{j}; A_{j})_{1,n'}(e_{j}: u_{j}'g_{j}', \dots u_{j}^{(r)}g_{j}^{(r)})_{1,\backslash R'}, (C_{j}', \gamma_{j}')_{1,p_{1}}; \dots ; (C_{j}^{(r)}, \gamma_{j}^{(r)})_{1,P_{r}}$$

$$(d_{j}', \delta_{j}')_{1,q_{1}}; \dots ; (d_{j}^{(r)}, \delta_{j}^{(r)})_{1,q_{r}}(1 - a - b - c - \sum_{i=1}^{r} (u_{i} + v_{i} + w_{i})_{l}, u + v + w; l)$$

$$= \prod_{i=1}^{r} \sum_{l_{i}=0}^{[n_{i}|m_{i}]} \frac{(-n_{i})_{m_{i}l_{i}}}{l_{i}!} A_{n_{i}l_{i}} C_{i}^{l_{i}} \sum_{t=0}^{\infty} \phi_{i}(\xi_{i}) x$$

$$(9)$$

$$\frac{\{\Gamma(a + \sum_{i=1}^{r} u_{i} l_{i} + u \sum_{i=1}^{r} \xi_{i})\}^{l} \{\Gamma(b + \sum_{i=1}^{r} v_{i} l_{i} + v \sum_{i=1}^{r} \xi_{i})\}^{l} \{\Gamma(c + \sum_{i=1}^{r} w_{i} l_{i} + w \sum_{i=1}^{r} \xi_{i})\}^{l}}{\{\Gamma(a + b + c + \sum_{i=1}^{\infty} (u_{i} + v_{i} + w_{i}) l_{i} + (u + v + w) \sum_{i=1}^{r} \xi_{i}\}^{l}}$$

$$z_{1}^{\xi_{1}} \dots \dots \dots z_{r}^{\xi_{r}} \tag{10}$$

The above result eqn. 9 will be valid under the following conditions.

• 
$$u_i > 0, v_i > 0, w_i > 0, u \ge 0, v \ge 0, w \ge 0$$

• 
$$Re\left[a + u \min_{1 \ge j \ge m} {b_j \choose \beta_j}\right] > 0, Re\left[b + v \min_{1 \ge j \ge m} {b_j \choose \beta_j}\right] > 0 \text{ and}$$

$$Re\left[c + w \min_{1 \ge j \ge m} {b_j \choose \beta_j}\right] > 0$$

•  $|\arg z| < \frac{1}{2} u \pi$ 

where u is given by eqn. [3(a)]

To evaluate the above integral we express  $S_n^m[x]$  in its series from with the help of eqn. 4 and Modified Multivariable H-function in terms of Mellin-Barnes type of contour integral [12] by eqn. 1 and then interchanging the order of integration and summation, we get

$$= \prod_{i=1}^{r} \sum_{l_i=0}^{[n_i|m_i]} \frac{(-n_i)_{m_i l_i}}{l_i!} A_{n_i l_i} C_i^{l_i} \frac{1}{(2\pi\omega)^r} \int_{L_1} \dots \int_{L_r} \phi_1(\xi_1) \dots \phi_r(\xi_r) \Psi(\xi_1, \dots, \xi_r) z_1^{\xi_1} \dots z_r^{\xi_r}$$

$$\left[ \int_{0}^{1} \int_{0}^{1-x} x^{a + \sum_{i=1}^{r} u_{i} l_{i} + u\{\xi_{1} \dots \xi_{r}\} - l} y^{b + \sum_{i=1}^{r} v_{i} l_{i} + v\xi_{i} - l} (1 - x - y)^{c + \sum_{i=1}^{r} w_{i} l_{i} + w\xi_{i} - l} dx dy \right] d\xi_{1} \dots d\xi_{r}$$

$$(11)$$

Further using the result eqn. 5 the above integral becomes:

$$= \prod_{i=1}^r \sum_{l_i=0}^{[n_i|m_i]} \frac{(-n_i)_{m_i l_i}}{l_i!} A_{n_i l_i} C_i^{l_i} \frac{1}{(2\pi\omega)^r} \int_{L_1} ... \int_{L_r} \phi_1(\xi_1) ... \phi_r(\xi_r) \Psi(\xi_1, .... \xi_r) Z_1^{\xi_1} ... Z_r^{\xi_r}$$

$$\frac{\left[\left\{\Gamma(a+\sum_{i=1}^{r}u_{i}l_{i}+u(\xi_{1}\ldots\xi_{r})\right\}^{l}\left\{\Gamma(b+\sum_{i=1}^{r}v_{i}l_{i}+v(\xi_{1}\ldots\xi_{r})\right\}^{l}\left\{\Gamma(c+\sum_{i=1}^{r}w_{i}l_{i}+w(\xi_{1}\ldots\xi_{r})\right\}^{l}\right]d\xi_{1},\ldots d\xi_{r}}{\left\{\Gamma(a+b+c+\sum_{i=1}^{r}(u_{i}+v_{i}+w_{i})l_{i}+(u+v+w)(\xi_{1}\ldots\xi_{r})\right\}^{l}}$$
(12)

then interpret with the help of eqn. 1 and eqn. 12, we have the required result (eqn. 9) and if we express Modified Multivariable *H*-function in series form with the help of eqn. 3 we easily arrive at eqn. 10.

#### **Derivation of the main integrals:**

The result in eqn. 6 is established by taking the partial drivative on both sides of eqn. 9 with respect to a. Equation 7& 8 are similar established by taking the partial derivate of eqn. 9 with respect to b & c respectively

## **Special Cases:**

If we put  $A_j = B_j = 1$ , Modified Multivariable *H*-function reduces to fox's *H*-function (Srivastava, 1982 [9], then eqn. 9 takes the form:

$$\begin{split} &\int_{0}^{1} \int_{0}^{1-x} x^{a-1} \ y^{b-1} \ (1-x-y)^{c-1} \sum_{i=1}^{r} S_{n_{i}}^{m_{i}} \left[ c_{i} x^{u_{i}} y^{v_{i}} (1-x-y)^{w_{i}} \right] \\ &H_{p,q:|R:p_{1},q_{1};...;p_{r},q_{r}}^{m,n:|R':m_{1},n_{1};...;p_{r},n_{r}} \left[ \sum_{i=1}^{z_{1}} x^{u_{i}} y^{v_{i}} (1-x-y)^{w_{i}} \right] \\ &= \prod_{i=1}^{r} \sum_{l_{i}=0}^{[n_{i}|m_{i}]} \frac{(-n_{i})_{m_{i}l_{i}}}{l_{i}!} \ A_{n_{i}l_{i}} \ C_{i}^{l_{i}} H_{p+3,q+1:|R:p_{1}q_{1};.....;p_{r},q_{r}}^{m_{1}n+3:|R':m_{1}n_{1};.....;p_{r},n_{r}} \left[ \sum_{i=1}^{z_{1}} \left( 1-x-y \right)^{w_{i}} \right] \\ &= \left( 1-x-\sum_{i=1}^{r} u_{i}l_{i}, u \right) \cdot \left( 1-x-\sum_{i=1}^{r} u_{i}l_{i}, v \right) \left( 1-x-\sum_{i=1}^{r} u_{i}l_{i}, v \right) \left( 1-x-\sum_{i=1}^{r} u_{i}l_{i}, v \right) \left( x_{i}; x_{j}', ..., x_{j}'' \right)_{1,p} \cdot \left( x_{i}; x_{j}', ..., x_{j}'' \right)$$

$$(c_{j}^{'}, \gamma_{j}^{'})_{1,p_{1}}, \dots, (c_{j}^{(r)}, c_{j}^{(r)})_{1,p_{r}};$$

$$(1 - a - b - c - \sum_{i=1}^{r} (u_{i} + v_{i} + w_{i}) l_{i}, u + v + w)$$

$$(13)$$

If we put  $A_j = B_j = 1$ ,;  $\alpha_j = \beta_j = 1$  then the Modified Multivariable *H*-function reduces to general type of *G*-function (Meijer, 1946 [14], which is also believe to be new

The conditions of convergence of eqn. (13) can be easily obtained from the eqn. 9. By applying our result given in eqn. 9 to the case of Hermite Polynomials (Srivastava and Singh, 1983) [10] by Setting

$$S_{n_l}^2(x) \to x^{n_{l/2}} H_{n_l} \left[ \frac{1}{2\sqrt{x}} \right]$$

In which  $m_i = 2$ ;  $n_i = n_l$ ; r = 1;  $A_{n_i,l_i} = (-1)^{l_i}$ , we have the following interesting results.

$$\int_{0}^{1} \int_{0}^{1-x} x^{a-1} y^{b-1} (1-x-y)^{c-1} \left[ c_{i}^{l_{i}} x^{u_{i}} y^{v_{i}} (1-x-y)^{w_{i}} \right]^{n/2} H_{n} \left[ \frac{1}{2\sqrt{c_{i}^{l_{i}} x^{u_{i}} y^{v_{i}} (1-x-y)^{w_{i}}}} \right] \\
H_{p,q:|R:p_{1},q_{1};....;p_{r},q_{r}}^{m,n:|R':m_{1},n_{1};...;p_{r},q_{r}} \left[ \sum_{z_{1}}^{z_{1} x^{u_{i}} y^{v_{i}} (1-x-y)^{w_{i}}} \right] dx dy \\
= \sum_{l_{i}=0}^{[n_{i}|m_{i}|} \frac{(-n_{i})_{m_{i}l_{i}}}{l_{i}!} A_{n_{i}l_{i}} C_{i}^{l_{i}} H_{p+3,q+1:|R:p_{1}q_{1};.....;p_{r},q_{r}}^{m_{1}n_{1}+3:|R':m_{1}n_{1};.....;p_{r},q_{r}} \left[ \sum_{z_{1}}^{z_{1}} \right] \\
(1-a-u_{i}l_{i},u;l), (1-b-v_{i}l_{i},v;l)(1-c-w_{i}l_{i},w;l) (a_{j};\alpha_{j}',...\alpha_{j}^{(r)})_{1,p} : (e_{j};u_{j}'g_{j}',...,u_{j}^{(r)}g_{j}^{(r)})_{1|R'} : \\
(b_{j};B_{j}',...,\beta_{j}^{(r)})_{1,q}; (l_{j};U_{j}'f_{j}',...,U_{j}^{(r)}F_{j}^{(r)})_{1,|R'}; (d_{j}',\delta_{j}')_{1,q_{1}};....; (d_{j}^{(r)},\delta_{j}^{(r)})_{1,q_{r}}; \\
(c_{j}',\gamma_{j}')_{1,p_{1}},...., (c_{j}^{(r)},c_{j}^{(r)})_{1,p_{r}}; \\
(1-a-b-c-(u_{i}+v_{i}+w_{i})l_{i},u+v+w;1) \right]$$
(14)

The conditions of convergence of eqn. 14 can be easily obtained from those of eqn. 9.

#### Reference

- [I]. A. et al., Erdelyi, Higher Transcendental Functions, Vol. I, McGraw Hill, New York (1953).
- [2]. A. et al., Erdelyi, Tables of Integral Transforms Vol. II, McGraw Hill, New York (1954).
- [3]. C. Fox, The G-and H-function as symmetrical Fourier Kernels, Trans, Amer: Math. Soc. 98 (1961), 395429.
- [4]. Y.N. Prasad, and R.P Maurya, Basic properties of generalized multiple L-transform, Vijnana Prishad Anusandhan Patrika, 22, No 1, (Jan 1979), 74.
- [5]. Y.N. Prasad, and A. K. Singh, Basic properties of the transform involving an H-function of r-variables as kernel, Indian Acad., Math, No. 2 (1982), 109-115.,
- [6]. B.L. Sharma, Memo. Pub. Collec. Math. Barcelona, (1964), 16.
- [7]. H.M. Srivastava, and R. Panda, Expansion Theorems for the H-function of several complex variables, J. Reine Agnew. Math, 288 (1976), 129-145.
- [8]. Srivastava, H.M., 1972. A contour integral involving Fox's H-function. Indian J. Math., 14:46.
- [9]. Srivastava, H.M., K.C. Gupta and S.P. Goyal, 1982. The H-Function of One and Two Variables with Applications. South Asian Publishers, New Delhi, Madras.
- [10]. Srivastava, H.M. and N.P. Singh, 1983. The integration of certain products of the multivariable H-function with a general class of polynomials. Rend. Circ. Mat. Palermo, 2:157-187.
- [II]. Srivastava, H.M. and P.W. Karlsson, 1985, Multiple Gaussian Hypergeometric Series. E. Horwood, Chichester, ISBN: 9780470201008, Pages: 425.
- [12]. Gupta, K.C., R. Jain and R. Agrawal, 2007. On existence ocnditions for a generalized Mellin-Barnes type integral. Natl. Acad. Sci. Lett., 30:169-172.
- [13]. Gupta, K.C. and R.C. Soni, 2006. On a basic integral formula involving the product of the H-function and Fox H-function. J.Raj. Acad. Phys. Sei., 4: 157 164.
- [14]. Meijer, C.S., 1946. On the G-function. I-VIII. Nederl. Akad. Wetensch. Proc. Ser. A, 49:225237.
- [15]. Rathie, A.K., 1997. A new generalization of generalized hypergeometric functions. Le Mathematiche, 52: 297-310